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What is the succeeding number of 29,69,6817
(i) 29,69,682 (ii) 29,69,684 (iii) 29,69,679 (iv) 29,69,683 (v) 29,69,681

60000 + 1000 + 900 + 10 + 4=
(i) 71914 (ii) 61914 (iii) 60914 (iv) 61904 (v) 61924

What is the difference between the largest and smallest number formed with the digits : 6,1,2,5 ?

(i) 5,265 (ii) 5,262 (iii) 5,264 (iv) 5,268 (v) 5,266

What is the preceeding number of 21,62,7717?
(i) 21,62,773 (ii) 21,62,769 (iii)) 21,62,771 (iv) 21,62,767 (v) 21,62,770

What is the smallest number that can be formed with the digits :1,6,4,5,37
(i) 61453 (ii) 15346 (iii) 13456 (iv) 31465 (v) 13546

8,673=
(i) 8000+600+3 (ii) 8000+70+3 (iii) 600+70+3 (iv) 8000+600+70 (v) 8000+600+70+3
Write the smallest 5 digit number that can be formed with the digits : {7,9,1}

(i) 11,971 (i) 71,191 (iii) 97,111 (iv) 11,197 (v) 11,179

What is the preceeding number of 3157
(i) 315 (ii) 316 (iii) 311 (iv) 313 (v) 314

Write the expanded form of the given number : 966591
(i) (9 x 100000) + (6 x 10000) + (6 x 1000) + (6 x 100) + (9 x 10) + (1 x 1)

(if) (9 x 100000) + (6 x 10000) + (6 x 1000) + (4 x 100) + (9 x 10) + (1 x 1)
(iii) (9 x 100000) + (6 X 10000) + (6 x 1000) + (5 X 100) + (9 X 10) + (1 x 1)
(iv) (9 x 100000) + (6 x 10000) + (6 x 1000) + (6 x 100) + (1 X 1)

(v) (9 x 100000) + (6 X 10000) + (5 X 1000) + (5 x 100) + (9 X 10) + (1 x 1)

Sort the following numbers in descending order
35 20 33 6 5 29

(i) 6 20 33 29 5 35 (ii) 6 5 35 33 20 29 (iii) 6 29 5 20 33 35 (iv) 29 5 33 35 20 6

(v) 35 33 29 20 6 5

Find the greatest number in the list :32 43 30 46 45 22 37 21 27 26
(i) 45 (ii) 46 (iii) 21 (iv) 26 (v) 30
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600000 + 70000 + 3000 + 100 + 40 + 9=
(i) 6,73,139 (ii) 6,73,149 (iii)) 6,74,149 (iv) 6,73,249 (v) 6,72,149

What is the succeeding number of 40795057
(i) 4079505 (ii) 4079504 (iii) 4079508 (iv) 4079506 (v) 4079507

Find the face value of 1 in 2,71,593
(i) 2 (i) 1,000 (iii)) 100 (iv) 1 (v) 10

6000 + 500 + 50 + 8=
(i) 16558 (ii) -3442 (iii)) 7558 (iv) 6558 (v) 6458

800000 + 60000 + 5000 + 700 + 70 + 6=
(i) 865766 (ii) 865776 (iii)) 865876 (iv) 865786 (v) 855776

What is the succeeding number of 2667

(i) 267 (ii) 268 (iii)) 270 (iv) 266 (v) 264

Write the expanded form of the given number :3,90,104
(i) (3 x 100000) + (9 x 10000) + (4 x 1) (ii) (3 x 100000) + (9 x 10000) + (2 x 100) + (4 x 1)

(iii) (4 x 100000) + (1 x 100) + (4 x 1) (iv) (3 x 100000) + (9 x 10000) + (1 x 100) + (4 x 1)

(v) (3 X 100000) + (9 x 10000) + (9 X 10) + (4 x 1)

Find the face value of 9 in 926,371
(i) 900 (ii) 90 (iii)) 18 (iv) 9 (v) 900,000

Write the number for the given expanded form :
"(6 X 100000) + (9 x 10000) + (3 x 1000) + (3 x 100) + (3 X 10) + (2 x 1)"

(i) 693,232 (ii) 694,332 (iii)) 692,332 (iv) 693,332 (v) 703,332

What is the succeeding number of 3,517,5537
(i) 3,517,551 (ii) 3,517,554 (iii) 3,517,553 (iv) 3,517,556 (v) 3,517,555

What is the preceeding number of 3747
(i) 374 (ii) 372 (iii)) 370 (iv) 375 (v) 373

Write the expanded form of the given number :137,730
(i) (1 x 100000) + (3 x 10000) + (8 x 1000) + (7 x 100) + (3 x 10)

(i) (1 x 100000) + (3 x 10000) + (7 x 1000) + (8 x 100) + (3 x 10)
(iii) (1 x 100000) + (3 X 10000) + (7 x 1000) + (7 X 100) + (2 X 10)
(iv) (1 x 100000) + (3 x 10000) + (7 x 1000) + (7 x 100) + (3 x 10)

(v) (1 x100000) + (3 x 10000) + (6 x 1000) + (7 x 100) + (3 x 10)

Find the smallest number in the list :20 10 45 30 12 18 31 46 38 42
(i) 20 (ii) 46 (iii)) 10 (iv) 42 (v) 12



25. 3000000 + 500000 + 80000 + 3000 + 500 + 20 + 8=
(i) 3,593,528 (ii) 3,583,518 (iii) 3,583,428 (iv) 3,583,528 (v) 3,583,538



Assignment Key

1) (i) 2) (ii) 3) (i) 4) (v) 5) (iii) 6) (v)
7) (v) 8) (v) 9) (iii) 10) (v) 11) (ii) 12) (ii)
13) (iv) 14) (iv) 15) (iv) 16) (ii) 17) (i) 18) (iv)
19) (iv) 20) (iv) 21) (ii) 22) (v) 23) (iv) 24) (iii)
25) (iv)
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